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PES A4 X Eih i) E=
BHYN 5 KI5 5kg & kg 900 N
=5 AN 1B R 5kg i kg 850 N
BEHN 8E RI&G 5kg & kg 800 N
BHN 102 AR 5kg i kg 750 M
g AN 1B £l 5kg & kg 750
g AN 8 GEdon] 5kg 5= kg 700
57 21/22 &=E 5kg i kg 800
71 8kg =5 1A B kg | 1,100 TE
71 6/7kg =5 1A bS] kg | 1,000 TBE
7 6/7kg Edbd 1A 7 kg | 1,000 FR FiE
J1) 7/8kg R I 1A 5= kg 950 515 FE
ES<Y 10/14kg FE 1A & kg | 1,500 BS)Il EE EX
ES<Y 7/10kg R I 1A b kg | 1,200 EE
FAD 4/5kg Edon] 1A i kg | 1,300 54 X+
hyA 4/5kg BERE 1A E kg | 1,400 £
149+ 6/8E Pl 4kg 8 kg | 1,600 EE FX
AXF 3/5kg =i 1A bS] kg | 1,300 FTE EX
A3 ER 3/5E PN 2.5/2.8kg i kg | 2,400 EE
*eAHY #9802 FE 3kg 78 kg | 2,400 58 ®EH
VAP 4/5kg I 1A b kg | 2,900 TE BE
+ BEf 4 FE 4kg 8 kg | 3,000 BREY i
R 5/6/2 FI% 8kghH 5= kg | 1,400 EiE
=R 5/6kg k. 1A 5= kg | 1,200 EiE
=R 3/4kg B 1A 5 kg | 1,300 EiE
B 2kg kL 1A & kg | 1,400 EE
<4 1.5/2kg ES 1A i kg | 1,900 8 FEx
TATA 3/4E E. 4kg 5= kg | 2,900 E
24 1/2B &5 2/3kg e kg | 1,200 EiE
TH 1.5/2kg = 1A i kg | 1,800
M7 102 FE P P | 1,200
ISR Fh [ 100g P P 600
RAILKRZILAA E W 350g " ¥ | 1,200
ERAILAS 212 =1L 4 ¥ | 1,200
AT RAT #9160/180g| dbLimiE 4 54 350
Ry+ B #3300¢g tiEE & kg | 1,600
H3)LE 300/400g gl & kg | 2,800




